
bjt beta ic.sqproj

In a BJT, the current gain β varies as a function of the bias collector current IC although we

often ignore this dependence in circuit analysis. The purpose of this example is to illustrate

this relationship.

Exercise Set

1. Run the simulation. Plot IC and IB (both on log scale) versus VBE. The difference

between the two curves (at a given VBE) gives log β.

2. Plot the output variable ic_by_ib (which is equal to β versus IC (both on log scale).

What is the approximate value of β for this transistor for IC in the range 10 mA to

100 mA?
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